
 
  RDMOTO CZECH REPUBLIC 
  info@rdmoto.cz 
  www.rdmoto.cz 

 
 

1 

K26-2SDM 
Kawasaki ZX250R-Ninja 2008- 

 
Kit for the left side Kit for the right side 

          ID Description Cat.no. Pcs 
 

ID Description Cat.no. Pcs 

 1 SLDM adapter 537/B 1 
 

1 SLDM adapter 537/B 1 

 2 Bolt M10x40mm 854 1 
 

2 Bolt M10x40mm 854 1 

 3 Steel adapter 626 1 
 

3 Steel adapter 627 1 

 4 Poly cylinder 150mm 463 1 
 

4 Poly cylinder 150mm 463 1 

 5 Bolt M10x30mm 888 1 
 

5 Bolt M10x30mm 888 1 

 6 Bolt M8x25mm 831 1 
 

6 Bolt M8x25mm 831 1 

 7 Washer M10 801 1 
 

7 Washer M10 801 1 

 8 Cylinder 15mm DV9 1  8 Cylinder 15mm DV9 1  

9 Bolt M6x20 1024 2  9 Bolt M6x20 1024 2  

10 Washer M6 1023 2  10 Washer M6 1023 2  

11 Tape 3M  1  11 Tape 3M  1  

12 Dural.bar AL16(M8)x209x30x30  1       

 

 
 

 

 

 

 



 
  RDMOTO CZECH REPUBLIC 
  info@rdmoto.cz 
  www.rdmoto.cz 

 
 

2 

 

 

 

INSTRUCTIONS 

 

1) Dismantle side fairing. 

2) Fit cylinders ID4 on steel adapters ID3 using bolts ID5. Fit this kit on the frame of 

motorcycle using original bolts. 

3) Connect both adapters using dural. bar ID12 and bolts ID6. 

4) Mount fairing back on the bike. 

5) Put bolt ID2 through washer ID7, SLD adapter ID1 and cylinder ID8. Mount this kit 

into the cylinder on the bike. 

6) In the end fit slider using two bolts and washers (ID9 and ID10). 

 

Warning – we recommend to use safety glue on threads of all bolts (moderate 

strong – blue colour). 

 

 

 

 

 


